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C.10km C.50m

D. 100g D.2kg

3a. Tick the noun that is more likely to be | 3b. Tick the noun that is more likely fo
30cm long. weigh 500g.

playground

bag of carrots

table.

4a. Estimate and underiine the most 4b. Estimate and underline the most
accurate statement for a football pitch. | accurate statement for a horse.

It weighs 500kg. J

It weighs Skg.

N\e

Itis 0m long.

Itis 2km long.

classroomsecrets.co.uk

Varied Fluency - Metic Measures - Year & Developing

P Type here to search




image2.png
[2) Year 6 Metric Measures Varied Fluency - Adobe Acrobat Reader DC

File Edit View Window Help

Home  Tools Year 6 Metric Meas... X

P Type here to search

wHBHEQ OO s [UNCNC)

Metric Measures
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Metric Measures

1. Match the units of measurement fo
the corect categories.

centimetres

grams

millimetres

ve .

1b. Match the units of measurement fo
the cormect categories.

millimetres

metres

kilograms

hig

2a. Circle the odd one out.
A 25cm
B. Length of a football pitch

C. 10km

D.100g

% .

2b. Circle the odd one out.
A. Weight of @ bag of potatoes
8.200g
c. 50m

D.2kg

hg

3a. Tick the noun that is more likely fo be.
30em long.

3b. Tick the noun that is more likely to
weigh 500g.
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5a. The children are estimating how much

‘water is needed to fill a bath.

I think it will be
around 115.5ml.

Ithink it will be
around 115.5L.
Jojo
Who do you agree with and why?

5b. The children are estimating how
heavy their school desk is.

Ihink it will be
around 25kg.

Jaiden

1 think it will be

around 25 % 9
Isaac
Who do you agree with and why?

6a. An apple weighs approximately 85g.
Estimate the weights for the following:

6b. A cat is approximately 50cm in
length. Estimate the lengths for the
following:

a grape acow

a pineapple amouse

a watermelon apig
an orange asheep
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